ya1 "7 '0n R,7 e TR L7"'02

How do we know to include, ineligible children - 2% 95 p=1

OVERVIEW

The 770 writes' if the husband of a 375 na dies and leaves her childless, she
may eat ;17n. However if she has any progeny from a 97w, even 2109 v
she is disqualified from eating 7m1n, for it says 12 X meaning 7% 9. Our
moon will explain what is meant by 9109 ¥
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The 5" explains that this nwa7 of 7% ¥ which includes 09 va1 (to
disqualify her from eating 7m17n), actually means grandchildren who are

®198, but this w17 is not needed for 9109 ¥ -
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For if she had relations with anyone who is o5 to her, he disqualified

her from 29772 (for ever) and she can no longer eat 77230 (even if she had no
children from him) —
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Therefore 7105 v11 cannot be interpreted to mean actually her children
who are 9108, but rather her grandchildren who are 210s.

SUMMARY
A 372 N2 who was 71097 17%v21 is forbidden to ever eat 7170, The 7% of v
2 concerning 2109 ¥77 is for 2109 7y Y.

THINKING IT OVER

Perhaps the 9100 ¥71 is referring to her son who is a X7 ¥1¥5 or a 7195w NN
who are 7P 2109; however she was not 7> 9109 Toy21!°

13,25 (nK) RPN

25909 y1 means children who are born from an illicit relationship; with a relative or a married woman. This
119 n2 will have 109 v11 if she had relations with a relative or while she was married, and bore a child.

? The 372 n2 had w> ¥71. One of her children had an illicit relationship which resulted in 2109 y71. The
children of the 3773 n2 died and there remained only this grandchild who is 2109. She cannot eat 77171,

* The only way she can have 9109 v if she was 7% 21097 7y21.

3 This is derived (see X,m0 Nn2%) from a previous (2°) P0d which states NN R>7 7 WKL 7°70 °2 375 1N
SOKRN K WP,

% See 2"w1mn. See W MK 292 for additional cases.
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